Nebraska Fuelwood Specifications

1) (2) (3) (4)

Species Ave. M.C. | Specific Gravity |Density (Ibs/cu.ft.) |Weight/Cord (Lbs.) | Heat/Cord

(Green) (MM BTU)
| | Green [20% M.C. |Green [20% M.C. |Green [20% M.C. |
Osage Orange | -| 076 079 64.0) 59.1| 5120] 4728 | 32.9
Black Locust | 0.40| 0.66| 0.67| 57.7| 50.2| 4616 4016 | 27.9
Iron Wood | ~| -| 0.67 - | 50.2 - 4016 | 27.9
'Shagbark Hickory | 0.60| 0.64] 0.66| 63.8 49.4| 5104 3952 | 27.5
'Dogwood \ - | - | 0.65| - | 48.6 | - 3888 27.0
Apple | - | - | 0.65 - | 48.6 | | 3888 27.0
Bitternut Hickory | 0.68| 0.60| 0.64 62.9 47.9| 5032 3832 26.7
Honey locust | 0.56| 0.60| 0.64 58.0 47.9| 4640 3832 26.7
Bur Oak \ 0.71| 0.58)| 0.63] 62.0 47.1| 4960)| 3768 | 26.2
Mulberry | 0.60| 0.59| 0.62| 58.9 46.4| 4712 3712 25.8
Red Oak | 0.75 0.56| 059 61.1 44.1| 4888 3528 24.6
White Ash | 0.45| 0.55| 058 49.4 43.4| 3952 3472 24.2
Hard Maple \ 0.68| 0.56| 059 58.7 41.9 4696 3352 23.3
Green Ash | 0.58| 0.53| 055 52.3| 41.1| 4184 3288 22.9
Black Walnut | 0.80| 0.51| 053] 57.3 39.6| 4584 3192 22.2
Red EIm | -| 048] 0.52 - | 38.9 - 3112 21.6
Kentucky ‘ 0.55 ‘ 0.50 ‘ 0.52 ‘ 48.4 ‘ 38.9 ‘ 3872 ‘ 3112 ‘ 21.6
Coffeetree
Hackberry | 0.63| 0.49| 051 498 38.1| 3984 3048 | 21.2
Paper Birch \ 0.80| 0.48| 050, 53.9 37.4| 4312 2992 | 20.8
Black Cherry | 0.58| 0.47| 0.49| 46.2] 36.6| 3696 2928 | 20.4
American ElIm | 0.94| 0.46| 0.48| 55.7 35.9| 4456 2872 20.0
Eastern Red ‘ ‘ 0.44‘ 0.45‘ ‘ 32.9‘ 2950‘ 2632‘ 19.8
cedar
'Sycamore | 1.22| 0.46] 0.47| 63.7 35.1| 5096 2808 | 19.5
Silver Maple | 0.78| 0.44| 0.46| 488 34.4| 3904 2752 | 19.0
Boxelder | - | - | 0.44 - | 32.9 - 2632 | 18.3
'Ponderosa Pine | 0.90| 0.38] 0.39| 45.0) 29.2| 3600 2336 | 17.6
Catalpa | | 0.38] 0.39 - | 29.5| | 2360 | 16.4
Cottonwood | 1.50| 0.37] 0.38] 58.0 28.4| 4640 2272 15.8




Butternut | - 036 0.37| - | 27.7| - | 2216 | 15.4
Black Willow | - 0.36] 0.37 - | 27.7| - 2216 | 15.4
Basswood | 1.07| 0.32] 0.33] 413 24.7| 3304 1976 | 13.8
Buckeye | - | - | 0.32 - | 24.0 | - | 1920 | 13.4

(1) Moisture Contest (MC) = green weight - oven dry weight +~ oven dry
weight

(2) Specific Gravity = oven dry weight + weight of the same volume of water
as the wood sample volume at designated MC

(3) Based on 80 cu. ft. per cord of solid wood

(4) Assumption: @ 0% M.C., Hardwoods = 8600 BTU/Ib and Softwoods =
9300 BTU/Ib. To calculate BTU/Ib @ 20% MC = (.833 Ibs. of wood) (BTU/Ib at
0% MC) - (.167 Ibs. H20) (1210 BTU for H20 vaporization). Therefore,
Hardwoods = 6962 BTU/Ib and Softwoods = 7545 BTU/Ib. @ 20% MC.




